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Part - I : Child Development and Pedagogy

1. Students, to behave in accordance
with the morals and ideals of
teachers, - teachers’ behaviour
should be in this level of Kohlberg's
Moral Development theory.

(1) Abstract conventional

(2) Conventional

(3) Post conventional

(4) Pre conventional
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2. For an effective classroom teaching
this is also important along with
readiness, content construction and
instructional order/ according to
Bruner.

(1) Reinforcement
(2) Attention
(3) Retention
(4) Reproduction
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[2]

A person’s interaction - with
environment results in the
development of this ....

(1) Genes

(2) Instincts

(3) Personality

(4) Aptitude

5,2 ©on  BONOeS _&05  pouue
DS Lovsessss

(1) " s=Nagges Uydroiooaces.

(B) /samores Srdretotron,
(3) (Samduste Gralcbosl.

(4) e iy o URSrelsbeosl.

One of the following is not a sub
test of Differential Aptitude test.

(1) Mechanical reasoning

(2) Verbal reasoning

(3) Spatial relations

(4)  Artistic relations
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5. Among the following methods, the | 7.
method that have high
‘subjectivity’.

(1) Observation method

(2) Case study method

(3} Experiment method

(4) Introspection method
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6. In this type of counselling, the
counsellor plays a major role than
the students in solving behaviourai
problems of students.

(1) Non directive counseliing |

(2) Eclectic counselling

(3) Directive counselling

(4, Career counselling
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The behavioural changes that sccur
due to this in an individual ean nat
be considered as learning.

(1) Experience

(2) Maturity

(3) Imitation

(4) Training
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Choose/ the correct statement in
respect of growth and development
of an individual.

(1) Growth is a part of the
development.

(2) Growth and development
continue throughout the life
of an individual.

(3} There are no individual
differences in growth and
development.

(4) Development is quantitative,

Growth is gquahtative.
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9. NCF - 2005 suggested that the
conduct of TLP should be this
centric
(1) evaluation centred
(2) teacher centred
(3) student centred
(4) content centred
825 Boger T8N Syodsn Sde
woenesen NCF - 2005 wooed08.

(1) srocis Soffbem
(2) &Fpen Sofduem
(3) oD Esdnvem

(4) g isfinsem

10. Sudhakar, an 8th class student,
frequently experiences the
following eritical situation \in
respect of personality developrient.
(1) Identity vs Identity confusion:
(2) Autonomy vs Shame
(3) Initiative vs Guilt
(4) Industry vs inferiority
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Padmaja is studying 3rd /class.
During holidays she ddes not like ta
do homework but likes te/ play. But
due to this motivation, she does the
homework with a fear that the
teacher does not like her.

(1) Social

(2) Extrinsic

(3} Intrinsic

(4) Achieyement
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A teacher to test this of the student
narrated -a concept in the story
form and made the students to
narrate the same concept to other
students.

(1) Relearning

(2) Attitudes

(3) Recognition

(4) Recall
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13. A person observing his friend
failing in playing cricket, helped
him by supporting required skills to
excel. The transfer of learning that
occured .....

(1) Negative

(2} Zero

(3) Positive

(4) Bilateral
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14. “Students attitude towards
teaching”, can be assessed’ by
using ...

(1) Rating scales

(2) Interviews

(3) Projective tests

(4) Cumulative records
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Observing of students in a specific
controlled situation to study their
helping and cooperdtive, natuce;

» Booklet Code

g 1
(1) Natural observation methed.
(2) Case study method.
(3) Interview method.
(4) Controlied observation
method.
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According to Ebbingus, the

percentage of forgetting of the
learnt material of an individual at
the end of  sixth day
18

(1) 50%
(2) - 25%
(3) 60%
(4)  75%
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According to ‘CCE’, ‘conduct of
evaluation continuously through-
out the academic year’, means ...

(1) before, during and after the
teaching learning process.
(2) as a part of the teaching

learning process only.
at the end of the teaching
learning process only.

(3)

(4) at the beginning of the
teaching  learning  process
only.
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A teacher unable to\ estabiish
interpersonal relationship with his
colleazues underwent stress and
got relieved from it by showingiit in
the classroom on the students. This

is an example for ...
(1) Proiection
(2) Displacement
(3) Repression
(4) Hegression
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A child at this stage beliaves like-an
investigator by enquiring-about the
concrete concepts in different ways.
(1) Early adolescence

(2) Later childhood

(3) Early childhood

(4)
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Ap  primary {level, a student

observed the avriting of the teacher
and habituated to write in a similar
way. /The learning theory involved
i this 15 ...

1) ~—Prial and Error learning
(2) “Insight learning

(31 /Social learning

(4" Programmed learning .
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According to R.TE. Act-2009, if
students’ strength in a primary
school is more than 200, the
teacher pupil ratio, excluding H.M.
should not exceed .....

R.T.E. Aect, 2009
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The approximate 1.Q. of the
‘educable * mentally retarded’,
children is ...

Digiiootlic welLredd’ Lze el
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(1) 50-70..

(2) 1-20°

(3) 20-39

(4) 30-50.

RHaheem at the age of 12 yrs, has
passed class X with good grade. His
mental age when compared to his
chronological age is ....

(1) High

(2) Less

(3) Equal

(4) Very low
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According to Piaget, children of

this stage solve probilem by testing
hypothesis and thinking
multidimensionally but not
unidimensionally.

(1)  Sensory operational stage

(2) Concrete operational stage
(3) Formal operational stage
Pre-operationzistage
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25.
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p— |
Children learn by exploring their
world and by experiences, but not
by rewards and reinforcernent. This

Booklet Code

(1) Behaviourism

(2) Cognitivism

(3) Associationism

(4) Psycho-analysis
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The  preparation of plans by the
teacher for conduct of teaching
learning process belongs to this
stage of teaching.

(1) Reactive
(2) Interactive
(3) Post-active
(4) Pre-active
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27. Inspite of providing effective

28.

teaching, training and other
facilities learning doesn’t occur in
the student due to lack of maturity.
This can be explained by this

learning principle.
(1) Reinforcement
(2) Exercise

(3) Effect

(4) Readiness

e
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In teaching EVS of class-V| @
teacher during his
learning process, encourages the
students by participating. himself
and giving opporturities to express
their  thoughts, " ideas “ and
suggestions. This type of leadership
is

(1)

Participative
(2) Permissive
(3) Laissez faire
(4) Directive
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Among the following /Jearning
theories, this gives . inore
importance to ‘response’.

(1) Bruner’s Theory of instruction.

(2) Skinner's operant
conditioningz.

(3) Thorndike's Trial and Error
learning.

(4) Pavlov's classical
conditioning:
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The most helpful activity for the
development of psycho-motor
domain among the children

(1)

Essay writing competitions

(2) Playing games

(3) Mock Parliament

(4) Elocution competitions
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Part II : Telugu {Lang'uagér - 1)
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&onost, wads, :;:dé". sl
2 BEKO %oL)
O Ha olines

BE10 &0, mciow

Goons S%S PRSI0 GdeucEs
By -

(1) ool
(2) Shosene
(3) fcanaEs

(4) =z

Soo Bb8ien ¥35  SododouEdeset:
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53. LIBEBSHED e 30 ainiZedy’ - U | 5T,  wiH o Srebice Fradamien ::’“ -
Tt P & Breb ele - T FE0EW ulhaion
(1) =z (1) ws@
(Z) sased (2) e
(3) xe (3)  Frove
(4) sege (4) Foanmss

54. w0y - ol 3003 0 R
(1) stomtom 0010
(2) Eogeehy $0000
(3) =0, gocdn

(4)  o5%0 3D &cdn |

r

=5 L7 p
DI Jondh volnton Brd HEoT - e
93, ‘{MivTanms DD Doctr ANED D | 508" &y D4
FBE% chetnd Boieole :
(1) &bair, BEse

(1) 2 @ s, st

(2) oo Bl (3) oo, Oba

(3) wugdao (4) =3, &b

(4) =g=se

60. 3y oD Heilpyued'n &0 g0 -

56. womio'/d SRS Ko (1) E+5+3°

(1), wexge (2) 343+

SO (3) 5+5+2

A\ e @) 545t

(4) “gpemive
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>art-IIT : English (Language - IT)

61-65. Read the following passage.

Rabindranath Tagore’s emergence
as an ‘Educator’ was completely a matter
of personal development, a necessary
outcome of the entire course of his life
and experience. He was born into a
house, which had been a center for
numerous ethnic and social movements
and a nucleus of all sorts of progressive

ideas and actions. Tagore absorbed all |

the rich and varied elements of eastern
and western culture that made him a
cosmopolitan. Tagore found his days in
traditional school wasteful and
oppressive. He had acquired more
knowledge by self-education that gave
shape and direction to his numerous
powers and potentialities. He evolved as
an educated par excellence. Tagore was
at home in humanities as well

as

sciences; besides having a strong poetic | b,

sense, an in-depth intuitien’ ) with
philosophy, and profound/relation with
music and arts. The  “tangible
embodiment of this realization was
Santiniketan. It was founded on 21st
December 1901 at the land purchased by
his father Maharshi Debendranath) to
establish a place for meditation. Initially,
there were five students, ‘all boys and all
Bengalis’, four of them from Calcutta
and the fifth' /the {ounder’s son.
Rabindranath Tagoie mmself described
Santiniketap-as-his ‘tangible poem’, as
the hoat, the “palden ‘heat’ ‘sonar tori’
carried the best cargo of his life. In a
letter to the Prince of Tripura, the poet
educator wrote 1 -wish to keep my
studenis away from-all the luxuries of
Eurapean life and any 'blind infatuation
with Furope and thus lead them in the
ways of szered and unsullied Indian

TET=111-EM/TM

tradition of poverty.” The . world
responded and honoured him not merely
as a poet, but as a Poet Educator, us
Gurudeva!

Now answer the following quesiions
choosing the right option.

61. Tagore turned cosmopelitan ......

(1) Since he was traditional.
(2) Sinee he was a self educator:
(3) As he absorbed western and
eastern culture.
(4) / For being a poet.
62. Tagore had strong poetic sense

besides ...
(1) / Proficient in psychology.

(2) Proficient in music and arts,
(3)__ Being adept in sports.
(4)~, Being tactical.

-

Santiniketan was founded .....

(1) As an education centre for
Bengalis.

(2) To impart education amongst
the poor.

(3) As a centre for meditation.

(4) To realize Tagore’s dream.

-64. Tagore wrote ‘I wish to keep my

students ... Indian tradition of

poverty’ to ...

(1) the Govt. of India.

(2) the government of Bengal.

(3} the Prince of Tripura.

(4) the Prince of Patna.

65. Tagore attributes his tangible poem
¥ o [
(1) Indian sub-continent.
(2) Santiniketan.
(3) his philosophy.
(4) his disciples.

113]
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66-70. The following passage has five | 71.

numbered blanks. For each blank
‘four alternatives’ are given.
Identify the correct option for each
blank. : (i)
Hi! T am Renu. Well, T (66} as the | (¥
fourth child in a family of seven. It | (iit)
was fun. I never (67) to look for (iv)
{riends to play with each other too
but we were always great friends.
On the other side, food was not in
plenty because my father’s (€3)
imcome wasn't anything much. We
had to share many things in our
life. Well, that taught me how to
share and be happy with. (69) we
had. The best part of it was that we
ail learned to eat (70) that came our
way.

66. (1) grewon
(2) grew away
(3} grew out 72,
(4) grew up

67. (1) had
(2) have
(3) liked
{4) has

68. (1) grand
(2) sole
(3} joint
(4) Jhugu 73.

69. (1) wvery little
(2) litte
(3) A little
(4 /the little

70. (1)4_everything
2 samething
(3) anytling
(4 nothing

TET-111-EM/TM [14]

Booklet Code B

2]

Read the conversation openers
labelled as (i), (if), (i) & (iv)given
on the left and their responses-as
(a), (b), (¢) & (d) on the right.
How's it going ?
Lovely weather !
I'll be in touch.
It's been very

interesting

talking/to you.

(a) Same here.
thl Great.
(¢)~Bye fornow.
fd) Yes, il 1s.

The sentences (1), (i1), (iii) and (iv)
¢an/be matched respectively as ....

(O~ byec,d,a
X bd, &7 a
(3 /asd,c,b
4) c¢/a,d,b

The underlined part in one word is
pronounced in the same way as the
letter ‘s’ in ‘measure’. Find it out.

(1} accent

(2) dozing

(3) garrage

(4) pagsion

We unlocked the door and entered

our apartment. We were ...
shocked to find the whole place in
disarray.

Identify the verb in passive voice in
the above passage.

(1) find

(2) unlocked
(3) entered
(4} shocked
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74. 1 saw him crossing the bridge. The
structure of the underlined part of
the sentence is .......

(1) Subject + Verb + Pronoun +
Present Participle.

(2) Subject + Verb + Noun +
Gerund.

(3) Subject + Verb + Pronoun +
Infinitive.

(4) Subject + Verb + Noun + 78
Past Participle.

75. There is no coffee - Would you like
a cup of tea instead 7 Identify the
part of speech of the underlined
word. !

{
(1) preposition l
I 79.
(2)  conjunctior l
(3) adjective |
(4) adverb 1

76. You make a face .../

(1)  When you <eliberately ignore
them. 30

(2) When you want /to control
yvour laughter,

() When you’are not pleased
about something,

(4 When_you accept it in a
strajght forward way.

TET-111-EM/TM [15]

Booklet Code IB I

77. Those who have learnt English use

terms like ‘thank you’ and fsorry’
more often than others'who have not
learnt English. It means that. ....

(1) Language is arbitrary.

(2) Language exhibits
redundancy.

(3) Language is creative,

(4) Language transmits culture.

Using gestures, expressions and
actions is one-of the techniques
used to teach .......

(1>~ Grammar
PO N
(2)~ Speliing
3) / Vocabulary
(4} Pronunciation

Capital letters are not used .......

(1) to begin each fresh line of
poetry.

(2) to begin a sentence.

(3) to begin all adjectives, which
describe God.

(4) to write the pronoun ‘I’ and

the interjection ‘O’,

One among the following is not the
suflix of Adjectives. Identifv it.

(1) - ful
(2) - less
(3) - some
(4) - hood
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81. No other democracy in the world

15 ..

Choose the right option to complete
the sentence.

(1)
(2)
(3)
(4)

82,

larger than India.
the largest in India.
not so large as India.

as large as India.

One among the following does not

describe part of our body. Find it

out.
(1)
(2)
(3)
(4)

83.

plump
curly

wrinkled
trendy

The exchanges of a conversation

between two people are given below

in a jumbled order. Identify- their |

right urd.;r to make a meaningful

conversation.

{a) Not too well

(6) I' m beginning to hate my job.

(e¢) Hi George! How have you
been?

(d) How come? What's the
matter?

(e) 1 thought yeu quite liked it.

(1} e/od, bre

(2) {&)d, a, e b

S b, c; e, tu, 0

4) ~d, b, ¢ e a

TET-11-EM/TM

Booklet Code ‘ B ‘

84. Identify the correct question for the
reply, ‘No, they have to/nance
their own studies.’

85.

86.

(16]

(1)
(2)

(3)

(4)

Do they finance your studies ?

Do students in your country
get a grant 7

Do you get credits for your
exams 7

Do you get-a grant for your
studies 7

Read the sentences (a), (b), (¢) and

(d).

Out of them, only two are

granimatically correct. Identify them.

(a)

(b)

fc)

(d)
(1)
(2)
(3)
(4)

The British

I am secing the doctor at
10 O’ clock.

I{was wondering if you had
two single rooms.

I am looking forward to seeing
you again.

I am liking this music.
(b) and (d)
fa) and (b)
(a) and (d)
fb) and (c)

is sailing from

Southampton early this morning.
Identify the appropriate word to fill

in the blank.
(1) fleet

(2) herd
(3) fleece
(4) flock
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87.

The file / folder with a collection of
learner’s work assembled over a

period of time is .......

(1)
(2)
(3)
(4)

88.

a Journal
a Portfolio
a Bigbook

a Diary

The correct choice or option among
the alternatives in a Multiple

Choice Question is called .......

(1)
(2)
(3)
4)

TET-111-EM/TM

Key
Stem
Option .

Distractor

89.

90.

[17]

Booklet Code I R |
y il

One of the tools of Formative
assessment 1s ...

(1)
(2)
(3)
(4)

Conventions of writing.
Reading comprehension.
Project work.

Grammar.

One of the features of Diary writing

15 ...

(1)

(2)
(3)
(4)

e

maintaining proper layout of
the text.

design and graphics.
use ol polite language.

use of language appropriate to
mood.
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PART IV(a) : Mathematics - Content

The smallest number that must be
added to 321727, so that the
resultant exactly divisible by 3 is ....

D 505 Sepgs 321727 B b Sus) Sy
3 D ™ Photudotood?

(1) 3
(2) 1
(@) 2
(4) 4

Number of Integers lie between (35)°
and (36)°

{35}2 w0 (36)° o Selgie WESsm

h#"s

(1) 74
(2) 68
(3) 72
(4) 70

Which of the following is not a

pythagorean triple.

B0 28 BN Oy TR,
(1) J€,8,12

2> 52313

&3> 6,8, 10

(4) 17,2495

94.

[18]

A glass rod of length 32.75 e¢m is
broken, into three pieces. If the
length of two piecesare 7.05 ¢ and
12.325 cm., then the length of the
third piece is (in\cm) ......

32.70 Do it

A SoHER0. Tells DR E Gk, oo
7.05 So.20, Be0atoe 12.325 %e.le. woasty

T =n

SelAy ook, Ew-(e/ Bxsudt)
) 13.635
‘ifﬂ 13.475
(33 13.365
(4Y 13.375

124 - {(48 + 6 + 4x3-(-6))}]|=

(1) 268
3
(2) 112
(3) 98
‘4) 122

After 12 years, Devasena’s age will
become four times that of her
present age, then her present age is
(In years) .....

12 sewtsymse Gums SN Sotso 8t

Ay 4 Ten SO Wlo RSB Doy

1:;=::q:ma?f'
(1) 3
(2) 4
(3) 5
(4) 6
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If a pie-chart is drawn for the

following data, then the angle of

sector representing mathematics

e o

98.

(1) 763
2) 80°%
3) 72
(4) 68°

The parallel sides of a trapeziun are
in the ratio of 2:5 and ‘the distance
between parallel sides is 10 ¢m. If the
area of trapezium is 350 ¢m”, then

the lengths of parallel sides are
(incm) ....

¥ Soovod :’.:-t's.::u;::‘.:w.?i w0 SO

T 2:D Soboin HEPotl flte Naly SRl
10 0.5, 0 e 350 . o2, wonis
o0 Shmott fiere Phros (De. Sswtid®)

(1)
(2)
(3)
4)

127 60
10,25
20, 50

R, 6

TET-111-EM/TM

101.

[19]

Booklet Code B I

—

If each edge of a cube is dﬂuh]éd,
then its volume becowues ...

1

Fll E times

(2) 4 times

(3) 16 times

(4) 8 times

2.5 BEIRh0 ol KO aotcko o BN
Ty

el d o ol R W L R x - LT |
e T =, o e g g F:n.‘-.-"'ugl-.-"'l":;}ﬁ:', Bt Rt

: wg £l P e ™
UL Rt o SN T ek G N

(1) L Teas
g«
{2~ ez
(37162
(£)/ &Ce
If the perimeter of an equilateral

triangle is 24 ¢cm, then its altitude
is (in em) ......

£ SShouri (Dgtaio A, towy Sob 24
o b, woss o ...":..__ (Fe=. i‘m:-é‘]

(1) 2443

(2) 33

(3) . 1643

(4) 443

The size of the class of the classes

10-19;:20-29;30-39; .........
10-19; 20 - 29; 30 - 39; ......... bt

e i i
""'""::Z: i ey P B b e

(1) 10.5
(2) 10.0-
(3 9.0
(4) 9.5
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The part of the home work left. when

Pranava finished —

12 part of his home

1
work on saturday and 2 part on

Y
meel B0 ged Sadt o S E v
: )
— % P
4
*:Ef'ﬂ s __..,-....- ~ONERS trﬂd-ﬁt.?l

t;".r Bolcin wamTny e

=

(1)
(2)
(3)

(4)

The largest of the fractions,
8

a — i
nd151

g
15

£ ]
el

=] | €N
L
)

| ol

fedien 5 LRy,

L

=3 | &n

(1)

(2)

| e Ol =l e :rl:ﬂ E|

(3)

. H
| 0 e/

&

—d
-
ean |

Y EE—

[20]

104.

106.

Booklet Code F
I::' |

In AABC, if ZA = 607 and £B == (~£C,
then triangle ABC is ...,

(1) Obtuse angled

(2) Scalene

(3) Right angled

(4) Equilateral

Wwros ABC & ZA = 60° e
ZB = ZC eoasts Biuasn ABC

(1) ot
(2)
(3) ocoutem

4)

_. \‘AJH! -y
ot (Ggiaa
aloai

L A LR At AT

The length of a Rectangle is 3 cm
more fhan its breadth. If its

perimeter is 30 cm, then its length
is tin<m) .

&X BY Dholee Quol, o, Doy Yol
3.0, Qﬁal.b. Pw Sxasded 30 Do

(L LD

QoA o ﬁ_dl_ SHelgiiies dlaoly, >y (e
P

(1) 3

(2) 10

3 9

4) 6

On subtracting 3x° + 5x + 3 from

T +6x-9
T +6x-9 20ed 3% + 5x + 3

en o

Sxdosom
(1) Tx*-3x*+2x-12
(2) -MT°-3*+x+12
3) - - +3x°-x+ 12
(4) Tx° + 3x%-x-12
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In a triangle, one of the exterior
angles is 84°, If its interior opposite
angles are in the ratio of 1 : 2, then
the angles of the triangle are ......

£¥ (Dibehe G, iy Prredt 1 P
84°, w Sy wetodune S e
1 : 2 coats & Sgbnn Gwl, Prres

(1) 40° 807 60"

(2) 30° 60° 90°

(3) 24° 48° 108°

(4) 28° 56° 96°

If PQRS is a parallelogram then,

L= B =i
(1) 60°

(2) 90°

3) 0°

(4) 45°

If 21% of a certain number is 63,
then the numberis ......

.- | :-c:h..ﬁwau.. 21 mEses 63 t.-i.«.-.'a"&r.i =SEs

(1) 350
(2) /300
(250
(43 200

121]

110.

111

112,

Booklet Code

B

= |
In a school, there are 3 teachersto

45 students. If 300 more students
are enrolled, then thie numbor of
additional teachers required.in the
school to maintain the same ratio.

Ted® 45 Beed ::"3..-:_....: Saoiiado

The present population of a city is
157464. If the population increased
by 5% annually then the population
of the ity 3 years ago was .....

L5 Beoraion Gk, (Rl =er 157464 ©
Sevry P BTN BR Tl BOARD.
3 Sl 360 w Bye =T

(1) 1,25,000
(2) 1,00,000
(3) 1,20,000
(4) 1,15,000
The scale of map is given as

1:250000. Two cities are 6 cm apart
on the map. Then the actual
distance between them is .....

e 1:250000. © Sesnnd’

Tl Barre Dol SR 6 o, Cu

.h.t:::b,-. ".:': e '_1: l:-j:r

S BLOTO Lohy P SRl

(1) - 25 km
(2) 15 km
(3) 10km
(4) 6km
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113. If the mean of the observations | 114. The area of rectangular plot is
X5, % X ceenn. Xyg 1S 30, then the mean 1875 sq. m. If its lerigth 153 times
ofx, +2, x. + 4, x,4 6, ........, its breadth, then the perimeter of

plot is (in metres)
X+ 2010
5 85 HBOSPUY 30 Suse s,
X1y X9 Xy eeeenn Xyo S0305e dDoof, sTeson 1875 5,200 oo Sy SE,
celiafdetes 30, vassn x; + 2, x, + 4, Ao 3 Te ¢lotn © goud oY Gk,
Ia_ - B, srsssmaay .T'“} + Eﬂ E'ﬁ‘&ﬂ:ﬂ' "-BJ-J'EEI ”.H::.E‘ﬂ& {E‘“:,‘-:,,”.f,{} 3
Ll Y - -
(1) 200
(1) 42.
| (2) 100
(2) 39
3/, 1000
(3) 40
(4)-_ 625
(4) 41
TET-111:EM/TM [22])
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Part - IV(b) : Methodology

115. A student generalizes that “If the

116.

last digit of a numberis 0, 2, 4, 6, or
8, then that number is divisible
by 27, the Academic standard
attained by the student falls under ....

(1) Reasoning - proof

(2) Problem solving

(3) Communication

(4) Representation-visualisation
DD 2 Segbe D90 ec3 0, 2, 4, 6 S
8 &, & Sopg 2 0 RSem Phictutobooty
PTOSNG ¢ Mo E Doy PEFmo
(1) eros Tintic - AU Smen Soatis

(2)  soedn g

{3) sSSmsds

(4) 2FO0%; WoLke - Heloude

According to the Piaget’s cognitive
development, the stage an which
the learner understands the law of
conservation is ...

(1)  Sensory- motor stage

(2) Formal operational stage

(3) Concrete operational stage

(4) Pre-operational stage

T TR YR ey R T A < g
e b hwiﬂ:ff'r-:";t ol B O G ) =y

.b;..-c:

P b T " . R T A T e i ar .‘-_:5.#.
FE I e P - D L R e e e W ey e ﬁqm.}n.l

e
L=

e T e Bt ot T o
i_l} .-t-‘.—trd- H"-r-r ]
(DY, Dsad Sy Mo
Wl b S
-r: S g o T =g A
‘.l)_i et ™ I:l-' o \haitig

(4) TEEpes SN

TET111-EM/TM

[23]

117. The teaching method which helps

in proving geometrical theorems
with reasoning is ....

(1) Deductive method

(2) Project method

(3) Analysis method

(4) Indadtive method

s orFed _moboly/ horeore StFS
S Brusd s vud

(1) I sy

(2} BNy and

(3)/ =duem 559

(Ay—Esaa 5a5

il8.axb=c,cxb=avab,ceN,

then the type of concepts involved
in this is ....

(1) Concrete concepts

(2) Conjunctive concepts

(3) Digjunctive concepts

(4) Relational concepts
a+b=cexb=avabceN

oL - , P il il -
cond SU8 gnadolanh it S

(1) Sy el

(2) Sedrel giises
(3) Py e

(4) Beowalb ygriies
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119. The most appropriate teaching

4

S 1I-111-EM/TM

material used by the teacher in
teaching of ‘decimal fractions’ to
the student is .......

(1) Bulliten Board
(2) Fraction cdisc
(3) Grid paper

(4) Black Board

(3) @& =6

(4) 2o ee

[24]

N
Booklet Code l[ _B

N —

120. The concepts of mathematics are in

hierarchical order. If a student does
not have the basic concepts; then
the corrective measure to be taken
up by the teacher to make the
student move forward in learning
IS ....

(1) To prepare special /learning

materiai.

(2) To 'diagnos¢ ‘the learning
difficultios.

(3)  To teach along with other
students.

(4) - To diagriose and take up
remedial teaching.

368" srsies eiopsood’ dodan. Dom 3

ERPNoY )it Beo 305 cumi O%ed

S TSl 270

NG Do SreShuels Blzenesy W

& Netong

oK Y Ad s - L LA
(I 30 ofah DLopd oouveys

oo

(2) ot et Jotes Sabde.

(3) ot Soved o Sonde.

(@) fSgse dh uwsoersy S
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122,

123.

Wy &

(2) N2

(3) 4

(4)- 6
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Part - V(a) : Environmental Studies - Content

This is not a pulse crop

(1) Black gram
(2) Pea

(3) Ground nut
(4) Ragi

38 SSerTre Dow Y,

LS T

(1) SodeSases

(2) weod
(3) eswsx
(4) oroes (Boe)

This is rich in proteins

(1) Wheat

(2) Rice

(3) Red gram |
(4) Maize

826" Fd50 wdsam Heainow. '
(1)  seesoes l
(2) Dawge

(3} Soloen

(4) Z::‘;‘;‘.-'E‘-*-‘g‘w

Number of  Pre-molars normally
found in adult bziman beings

Bl gy Bl

&, =5 *..."v. w- -~
#;'ﬁﬂ Tt il i Y510 23 bﬁdﬁ-ﬁéﬂﬂ‘ﬂ
(hagey Soore) tas)

124. Liquids are measured in-these

125,

126.

[25]

units.

(1) Square meters

(2) Litres

(3) Meters

(4) Grams

ey B SiorRed’ Seals,
(1) wesly\bswebes

(2) dux

(3) . Sowsts

4) {_rsows

The largest flower is seen in ......
(1) / Lotus

(2) Passiflora

t3)  Rafflesia

(4} Sunflower

=0 e

(1) oo

(2) o

(3) b

(4) =%t

Dust and smoke particles present
in the air can cause this disease in
human beings.

(1) Gastritis

(2) Bronchitis

(3) Arthritis

(4) Anaemia

o8 &cd LMD Nolo¥s N Trwige nel
SFsped’ 5R oD

(1) ml};ﬂﬁ

(2)  @roBels

(3) ._mL':I.':_.-z.’.":

(4) SRSecsr

TS TET July 2017 Paper-1 Question Paper - https://tstet.co.in


https://tstet.co.in

TS TET July 2017 Paper-1 Question Paper - https://tstet.co.in

Booklet Code l B I|

127. The layer nearest to the Earth | 130. On the basis of area the country

surface is ... that is smaller thati Tndia.
(1) Exosphere (1) Canada

(2) Troposphere (2) Brazil

(3) Stratosphere - (3) Australia

(4) Mesosphere (4) Argentina

. oy o S ey g sl = B .
TP d SHED &5, D Sl LB toD i CRe,
s €A,

{2) »3-“‘;‘ Tt (2) Dad
(3) &2 estliene (3) U&:{:Q‘G'
LS 1:_4]. u%:d;‘

(4) SofF ssboo

131. Childven are not having the

128. These energies never get exhausted. following right.

(1) Wind, sunlight (1) » Rightto protection from wars.
(2) Kerosene, wind, water (2) Right to survival.

(3) Coal, sunlight, wind ' (3} _Right to be honoured.

(4) Natural gas, water . {4) Right to employment.

Ba sdmsdons 2nyetd 5oAZES. io8 2IE° wrees Seidl =t

(1) 2, sotzed | (1) ciaso Bood S Dod iy,

(2) 28%S, g, S5 | (2) #2035 3y,

(3) To=T el iy,

— ——

(3) &, Z38zed, w

(4)  sre ooy, D90 (4) &2 Fet oy,
) 132. Chairman of the Drafting

129. Fﬁiak"“mf Pﬂla‘?e built by the ... Committee of Indian Constitution.

(1) Salarjung - I (1) Jawaharlal Nehru

(2) Quli Guiub Shah | (2) Dr. Rajendra Prasad

(3)  Mir Osman Aii Khan (3) Dr. B.R. Ambedkar

(4) Sir Viguar-ul-Umra (4) K.M. Munshi

vol Rl BN AgeTna. IS Tl Un Sees efls

(1 “Ssmss orloef (1) =upbemd S b

(3) &.f ,_1_-:;“'*: 5-'-;-‘-'-':7"5 (3) LT"_EE £.21b, 1..5-::'_'-'.:.:__5

(DN 3508 ab-apn et By
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134.

135.
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In human beings, peripheral
nervous system consists of .....

(1) Cranial nerves and spinal
nerves.

(2) Bram & cranial nerves

(3) Spinal cord and spinal nerves,

(4) Brain and spinal cord.

Brup sobab ;ABEE* 50 dowrac,

(1) z3emine & oo

(2) Zobss & Sreodom

(3) Tnadmnee & wgpmrisas

(4) ot & Jsdsw

‘Pistil’ belongs to this part of a

flower.

(1) Gynoecium

(2) Calyx

(3) Corolla

(4) Androecium

WOAS! e Gk, O rend Delil.

(1)  eosmS%he

(2) usssonx

(3)  wigzsend

(4) Zsoud

This gland doesn’t secrete digestive

CNZYMES

(1) Pancreas

(2) Salivary glands

(3) Gastric glands

(4) | Wer

=

% g W R m = t nd b

= Vet P i M P 8
— —

(1) a%ise

-["'.."} T Y
el 3 ] BN R

.-
(3) wSsanEtes
() oo

b _ . o N A )

136.

1 3?#

138.

} &
Booklet Code |
i 15

The disease ‘Scurvv™ in huwan
beings is caused “due- tc “the
deficiency of .....

(1) Folic acid

(2) Riboflavin

(3) Calciferol

(4) Ascorbic acid

STRPRET w5 T BT Ehio e \Ses
(1) Fozwgo

(2) 2&0%

(3) =30d

(4) e

IDeosygenated blood is collecied
into this charaber of human heart
from the body parts.

(1)~ Right ventricle
((2)/ Aeft atrium

(3)/ Right atrium

(45 Left ventricle

SIS 00 piveiesd Tmiaie (el ) S5

THHGENE eloed Urs o3 Stetieeh.

(1T =& nily -

(2) 2o ¥by

(3) =& 0%

(4) oSzos =o0s

The  factors  essential for

photosynthesis are .....

(1) CO,, Starch, Chlorophyll,
Sunlight.

(2) CO3, Hy0, Chloreghyll,
Sunlight.

(3) CQ,, O, Chlorophyll,
Sunlight.

(4}  Glucose, CO,, Chlorophyll,
Sunlight.

2002 =i el ot AN s

(1) COj, 2ed dovgs, Lpindie,
SPUISD

12} {.10 2y I'I }ﬁ =™ L‘*.-.-'L-.n.}"‘.. AP bl

127]

s

(3)
(4)

Cﬂlj Uj ¥ w'::n-.-' q_.'\:.-._. F;‘f“‘:h‘ma

hir;
25E, CO,, smirtse, BP0 TeE

I'h- _l'h.r‘

Lk
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139. The world [amous Ellora caves

140.

141.
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belongs to this period.

(1) Kakatiyas

(2) Guptas

(3)  Mauryas

(4) Vijayanagaras J
fasans :..:;.: oW ;"a:.a"v Novros 80 et
(1) =aGasases

(2) 25

(3) =l

(4) Secuaund

At present the post offices are not
providing the following Service.

(1) Sending telegrams

(2) Saves money

(3) Life insurance
(4) Post the letters l

Pt f.'F?ﬁ...‘*' sy Ge 2al Soets webende ]

.r,e

il: Serras Soide |
(2) ﬁ._‘l-.r: b b &:ﬂ-ﬁ-ﬁ

(3) £ 1'.2 l
(4) &borchs Abdas |
The Mandal Praja Parishad

General body meeting is conducted
by .....

(1) Agriculture Officer.

(2) Tahsildar

(3) Mandal Educational Officer.
(4) Mandai Parishad

Deve !np‘ﬂem Officer.

142

143.

144.

(28]

Booklet Code I B

The author of the ‘Bhramarambika
Samvadam’

(1) Kadukuntla Papa Sastii

lllll

(2) Anumula Venkata

Subrahmanya Sastri
(3) Pavuram Rangacharyulu
(4) Bahiri Gepala Rao

(SRoroDse Hemilie Niedsy

(1) sEo¥oow uvd

(2)  wulbe Sote Sopse; Ty
(3)  FueBemroriods

(4) ° 2l»d Rdreosy

Gandipet tank is also known as ...

(1}, Osman Sagar

(2y Hussain Sagar

(3) /Ali Sagar

4y A Ida:,ra Samudram

HAD e ?.lﬁ.:@."ﬁ.: =P ER counlo,
(1) & >

(2) oy b

(3) “wd>xb

(4) . &S SHoge

This river does not flow in the
Telangana state.

(1) Penna

(2) Pranahitha

(3) Thungabhadra

(4) Kinnerasani

s 50 Deove E‘W Earena.

(1) ==
(2) (1 S>rns
(3) Bosis

(4) 380
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Part - V(b) : Methodology

145. This specification belongs to

146.

“application”.

(1) Detect errors in a wrong
statement.

(2) Recognise facts, concepts, etc.

(3) Draw inference from the
relevent facts or data.

(4) Classify items as per the
selected criteria.

e .:-;:_:c.r-:: 1Zw@RFET R Delnh.

(2)
(3)

(4)

This is not one of the principles of |

JOREi SIitTe GOPUST eoTel

curriculum construction.

(1) Principle of elasticity.
(2) Principle of activity.
(3) Principle of creativity.
(4) Principle —of teacher
centredness.
e [Adlnice 3R,
(1) {Asats aisieg
CARNG . T2
ﬁ'l T W et W
{IJr e kvz‘ﬁ’eﬂ o i
(4) &S cin-Sody® Dalisse
TET-111-EM/TM

147. Find the incorrect sidtement about
aims and objectives aof Science
teaching.

(1) Aim involves all-round
development-of an individual
which is beyond the scope of
the school, where as objective
is specific, immediate and
visible change brought in a
learner during an
instructional hour.

(2)  Aim is-a distant goal, while
objective is a short-term goal
which i€ meaningful, clear and
precisely defined.

Objectives come from aim

whose attainments are steps

towards achievement of
educational aim.

4) , Aim can be achieved at a
short-time with hard work
without breaking aim into
objectives.

Lapn T S0 alTes Seldbo of e

Benelel BOSIO. |

(1) &y Bdday

=
0

(2) &2 &g:*:::ﬂ‘ Z0oBnal o,

(3) ez, aTie ol SPSrololind,

o) Bon &%, el FrTanm
mhinlhs SECR

(4) &8%e, o seom LgEoladien
scesTeadt :.—.;‘.rh:}h? b JaT b DO
S
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Recently Education department
introduced this for strengthening
the teaching learning process.

(1) Extension classes

(2) Dimtal classes

(3) Library classes

(4) Self learning classes

b L= -
= e T

(3) sogrecsh BB

5 5 s It
- o m b b -
(4) Pl ¥ W I - R L'-'rUill}\.-:ﬁ-';n:
- J

This methed is usefu! for handling
the lesson ‘Gems of Clay’:

(1) Question and Answer method.
(2) Lecture method.

(3) Story telling method.
(4) Field study.

=L =t ™ - — .
F Y o F %, - - w - = . W Bl Y 4
P 2 N W -.-:“!'-:..";l,;h' Lo awviiartswn L) i....u:\.-.ﬂbu:v:r

R e R M MG GEE EETE. NS CEE RS e o TR TU W T CmE e

Booklet Code |
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150. Teaching learning process always

should be focused on....
(1) School centred

(2) Subject rentred

(3) Teacher centred

(4) Student cenired

(3) &3 vy oot

(4) o008 Josem
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